3apnava I. ABTonpober

3a AeHb MallMHa Npoe3XaeT N KMINoMeTpoB. CKONMbKO AHEN HYXXHO,
4yTOObI MpPOEXxaTb MApPLUPYT AJIMHON M KNIOMETPOB?

BxoaHble AaHHble

[TlporpamMMa nony4yaeT Ha BxoA ymucna n n m (uenbie,

NO/IOXUTESIbHbIE).

BbiXOoAHbIE AaHHbIE

BoiBeanTe OTBET Ha 3ajaudy.

[TpnmMepsl
BXOAHble AAaHHble
/700

/750

BbIXOAHbIE AAdHHbIE
2

BXOAHbl€ AaHHble
700
2100

BbIXOAHbl€ AAHHbIE
3

[Tpnmepbl
BXO[Hble AaHHblE
/700

2150

BbIXOAHbI€ AAHHbIE
4

int (1nput ())

)
I

b = int (input ())

k =0

1f b $ a ==
print(b // a)

else:

print(b // a + 1)

a int (1nput ())

b = int (input ())
#tk = b // a

k = (a+tb-1) // a
print (k)

/ /MBI MB00pPEIM OKPYyIJIeHME B
OOJIBIIYID CTOPOHY

) e

import math

a = int (input())
b = int (input () )
k = math.ceil(b/a)

print (k)



